Total No. of Printed Pagesi# 5 Examination October 2020
B.A. S.Y. (Sem-lll)
1329 Geography - V(Climatology)
Time: One Hour Max. Marks: 50

Instructions
e Solve any 25 questions from Q1 to Q30
e Solve any 25 questions from Q31 to Q60

1 What are the major components of the atmosphere?

AT A Fedh e
(A)Gas-Dust Particles-Water (B)Gas-Dust-Water (C)Gas-Dust-Dew (D)Gas-Dust Particles-Water Vapor

2 The total amount of nitrogen and oxygen in the atmosphere is .....
AAGIAT T AT (FIST A ATATELIA T THIT AT

(A)78.00% (B)99.00% (C)20.00% (D)90.00%
9t % 22 % 0% 22%

3 Ultraviolet rays are observed in which layer of the atmosphere.

<TfAeTTeT BRYOT ATaTaoT=AT T T ST SITSeAT ST ?

(A)Troposphere (B)Stratosphere (C)Ozonosphere (D)lonosphere

4 When is the biggest day in Northern hemisphere?
ITLIMATIT T AST KA FHT ST ?

(A)23 March (B)21 June (C)22 September (D)21 December
237 2197 22 qaT 21 k&aw

5 The electromagnetic short waves coming from the sun are called?
HATHST JUTAT (eI agad AgL AT FF FEoTdra ?

(A)lsolation (B)Temperature (C)Heat (D)Energy
Hivorer ATIHT ISrEr FAT

6 What is the difference between maximum and minimum temperature.
FHTA T AT aTIHTTA T R 0 TR T

(A)Range of temperature (B)Range of insulation (C)Temperature difference (D)Absolute range
ATIATT HET ST HET AT Tl [EET TN

7 Inversion of temperature means..
ATEET [qaaar TSt #3?

(A)Temperature rise according to (B)Temperature decrease with altitude (C)Rising summer temperature (D)Rising winter temperature
altitude FHHE ATHE e IETATET AT a8 fEaTeATde aTTETIe aTe
FEHT A ae

8 High pressure sub-tropical calm belt known as ‘horse latitude’ lie between..
STIT AT T ABEAT AT JIST LT J=AZT TeT ... T TR,
(A)between 0 to 10 N. and S. latitude (B)between 15 to 25 N. and S. latitude (C)between 20 to 25 N. and S. latitude (D)between 30 to 35 N. and S. latitude
o T 90 I T AWM AATAT&FA 9 T Y ITAL T ST400 FAAAT &FA Qo Y IOT T (& AT AW 30 34 IA7 T K& FETAT S0
9 Which one of the following is example of planetary wind?
FTCATAGR T TErT AT IETE70T AR ?

(A)Monsoon (B)Trade winds (C)Sea and land Breezes (D)Chinook
AT T aTe T qAAE AT EECD

10 What is the measurement of wind pressure?

(A)Centimeter (B)Meter (C)Millibar (D)Anemometer
HEMRT icas [EEIEIEy ST

11 Which of the following part of India receives the first monsoon in summer
I ETATT AT ATATATE AT T a4 AT ST &1 ?

(A)Western Ghat (B)Himalayas (C)Eastern Ghat (D)Meghalaya plateau
afv= \e feATeT FCiicy AT T80

12 EINino is..
Tt AT FEUIST T ?

(A)A Sea Storm (B)A Warm Ocean Current (C)A Tropical Disturbance (D)Another Name Of Typhoon
U ARG T I AEEETT TATE U IUEHEA I (T TEFT T ZEL AT

13 What is the percentage of saturated air humidity?
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(A)25.00% (B)50.00% (C)75.00% (D)100.00%
Y% ¥0% w4 % 990%

14 Which one of the following is a low cloud?

FHT I @I ATATATH F0TT 378 2

(A)Cirrocumulus (B)Cirrostratus (C)Altocumulus (D)Nimbostratus
[SAER i e T FITAT FaresTes

15 Which of the following cities receive the lowest rainfall during the Southwest monsoon?

FTATATH FAT TV TR AT=G FeAT qard wHl Tad ST,

(A)Chandigarh (B)Pune (C)Chennai (D)Delhi
EEUES T EEY feetr

16 Name of the continent where Tundra type of climate is not found.

(A)Europe (B)Asia (C)Africa (D)North America
T arferar fomar T R

17 ... receives highest rainfall.

.......... Iy AT & T TSdr.

(A)Thar Desert (B)Cherrapuniji (C)Mawsynaram (D)Shillong

18 Weather forecast means..

(A)Information of future weather (B)A good news about weather (C)A bad news about weather (D)None of the above

19 Threat of the global warming is increasing due to increasing concentration of......

........... =T RIS AT aTTH I a1 &1 e

(A)Nitrous oxide (B)Ozone (C)Sulfur dioxide (D)Carbon dioxide
T HAFATES =T TR STAFATES AT STAFEAET

20 Anticyclones are mainly found ...

T AT TR ... STTTIMT=AT ST @Al .

(A). between 25 to 35N .and S. (B)between 35 to 65 N .and S. latitude(C)between 45 to 75 N .and S. latitude(D)between 65 to 90 N. and S. latitude
latitude 3y T RY. I T FTAIVT SRR @A €Y, o \9Y. IEY T FTEIIT STarTwT §Y 2 0 IUT T ATROT SR a0 AT
QY T 39 ITAY T ST T &TFATT T

21 Nitrogen is ........... % in air.

AT T R ST ... 2

(A)58 (B)68 (C)78 (D)88

58 68 78 88

22 A layer located in stratosphere which obsorb ultraviolet rays of Sun called..
FeqatavTdier Ua o7 ST STfoTer BT ST =t T ....... FEOrard .
(A)D-Layer (B)E-Layer (C)F-Layer
EEDES Erons TH-7
23 Outer most layer of earth atmosphere is .....
=T ATETETET Fard aear 97 ... 3AE.

(A)Troposphere (B)Exosphere (C)Thermosphere
ZTTTERIT TFATEET IHTETIT

24 The nature of climatology is ......
BRI &€ ... 378

(A)Static (B)Dynamic (C)Progressive
ferds e ST

25 Climatology is a branch of which geography?
EATAT WITET & FUTCAT AT 9T 38?2

(A)Environment (B)Human geography (C)Physical geography
AT ITETE HAHET T ST JITeT

26 The process by which water evaporates due to temperature is called ....

(A)Condensation (B)Water vapour (C)Evaporation
rErET SAATST TSy
27 On which day the sun rays fall perpendicular on the equator?

FOAT B9 gATET feor fayag ey daeT IS ard ?
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(D)Ozone layer
ElEICEE

(D)Mesosphere
HETEIT

(D)None of the above
T S ATar

(D)Bio geography
Stfaa yErrer

(D)Humidity
e
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(A)21 March and 22 September (B)21June (C)25 July and 21 April (D)21 December
21 71 =rfor 22 gav 2137 25 5ot 3Arfor 21 ufsrer 21 k&aw

28 How many inches is the sea level air pressure?
FHEHIE I §99T 19 Al §9 39 dr?

(A)28.12 inches (B)29.92 inches (C)30.12 inches (D)35.10 inches
28.1289 29.92% 301289 35108

29 This is the average surface temperature of the sun....

(A)60000 (B)70000 (C)80000 (D)90000
60000 70000 80000 90000

30 What is the position of the Earth at a greater distance from the Sun

(A)Rotation (B)Revolution (C)Sub-Sun Position (D)Apsurya Position
TFaeT RIS L ITgEfEEr EEGRIS T

31 Which one of the following is the example of local winds?

H|TATA T FOTr e Hea aT=aTe SR80 38?2

(A)Monsoon (B)Polar Winds (C)Westerlies (D)SantaAna
AT JAT A fy=ar aw STreTsuT

32 What is the tornado?
ST TR #T?

(A)Very high pressure centre (B)A very low pressure centre (C)A very high Ocean waves (D)Planetary winds

33 Storms in the Japan and China Sea are called.
ST T JT SET e < T ... T

(A)Khamsin (B)Hurricane (C)Typhoons (D)Thunderstorm
IR T TR EEIEIcE

34 This is the feature of the tropical Maritime air masses.

IHEF T AT qEATI & U aforsesr 37

(A)Hot and dry (B)Hot and wet (C)Cold and dry (D)Cold and wet
I T AT I T A IS TS PEk Y

35 What is the direction of the wind in the anticyclones?
SEATE AT R F9IT ST ?

(A)From the center to the outside (B)Towards the center on the outside (C)North to south (D)East to West

36 Humidity is the result of....

(A)Transpiration (B)Evaporation (C)Presence of heat (D)presence of moisture content in the
TIET arsITET I ITASTAT air
FIATeT AT ST STdT

37 In which form is atmospheric humidity expressed?

ATV SAEAT FUCAT FTEATT SAad dedl ST ?
(A)Absolute humidity (B)Specific humidity (C)Relative humidity (D)AII of the above
38 A large body of air having a fairly uniform temperature and humidity etc. is called..
ATIHETT AT AT SHTAT STIT=T 44T [99TeT T30 ... T FEUIAT.
(A)A cyclone (B)An anticyclone (C)An air masses (D)Storm
Ecrey SeATaT I IS
39 What is the most important element of climate?

ZATHTTET JaTd A ccaTaT ged Furar?
(A)Temperature (B)Pressure (C)Humidity (D)Rainfall
AT T ST T
40 Which cloud does rainfall on the earth?

TATEY TSUT=AT TS24 AT FI0TedT @30T 2l ?

(A)Cumulonimbus (B)Stratus (C)Cirrus (D)Altostratus
FIAATHTT e o A reged

41 Which gas is harmful to the ozone layer?
ST J7TEAT ST STUMAT AT HOTT?

(A)CFL (B)CCF (C)FCF (D)CFC
AT THATTH THROFAT AT
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(A)Water vapour (B)CO (C)co2
STAITST CcO CO2

43 What generally happens to air temperature as we move from the equator to poles?

(A)It Decreases (B)lt increases (C)lt remain constant
FHAT &I are ferv ae
44 Earth is nearest to the sun on..
AT GATAT Fes Ferl AA?
(A)4 July (B)23 September (C)21 June
43 23 q<ar 2157
45 Maximum insolation is received over the......
FHT FITFAT HIVTCAT TSI B ?
(A)Equator (B)Tropical areas (C)Sub-tropical areas
46 The standard sea level in milibaras is..
THE G AT &1 BT S/ ar?
(A)960 mb (B)990 mb (C)1013 mb
960 fetraTe 990 feAtaTe 1013 fEefaT
47 The medium altitude clouds are..
T ST & T
(A)Cirrus (B)Nimbus (C)cumulus
L Farer FHAT

48 The atmosphere over the Antarctica is generally cloudless because of..

(A)High pressure (B)Flat topography (C)Lack of water bodies
EiCICH HAA TS AT SAAEATAET AT
49 Tropical cyclones in Australia are called?
Al AT IUFRTHT AFAT ... T A
(A)Hurricane (B)Willy Willy (C)Typhoons
aFT Pt fereeit TR

50 Which one of the following diagram shows the direction and duration of winds?
TETATH HUTAT SAHAT AT BT T FATTET 9T

(A)Cartogram (B)Climograph (C)Ergograph
FE T FATSHUTHR TR

51 Which one among the following is not a factor that affects direction of wind?

eI TRl aT=AT=AT RIAT THT AT TR e FHIurar?

(A)Friction (B)Pressure gradient (C)Coriolis effect
YT BERELGHE FFAE TR

52 Instrument used to measure rainfall.
TSI ATTATATST AT JTE AT .

(A)Richter scale (B)Barometer (C)Rain gauge
fer =her ERLicas AR

53 Which of the following is not a form of precipitation.

TETATH HOTAT T =T T ATar.
(A)Snow (B)Haze (C)Rain
femar EED L

(A)Wet (B)Dry (C)Hot
iy FE i
55 Which is the most developed air masses in the world?
S Fat e faafd a9 Forar?
(A)Topical maritime air masses (B)Stable air masses (C)Cold air masses

IR AT a9 fere argeTeir 4 AT
56 The cyclone in which zone is intense and destructive

FUTEAT TSI A dle (=TS ST,
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(D)O3
03

(D)None of the above
FEATH ATar

(D)03 January
03 S=amT

(D)Polar region

T ST

(D)1060 mb
1060 T

(D)Stratus
g

(D)Low temperature
e T

(D)Westerly waves

fy=sir @=ir

(D)Stardiagram

AT

(D)Magnetism
Hrs

(D)Hygrometer

ERpiEicas

(D)Dew

(D)Warm

(D)Polar continental air masses

CEIRRCERRCIR R
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(A)Cold region (B)Mountain region
I F=or T TES
57 How many years does it take to observe the climate of a region?
THETEIT 29T §aTHT S3 qUaTarsT fal a¥ AETerT & T
(A)40-45 years (B)30-40 years
40-45 v 30-40 A
58 Which of these gas in a factory causes air pollution?
AT YT HLUATH FEETATAT HOTdT AT FUNT S7ar?
(A)Oxygen (B)Nitrogen
Attt RIRCAEES

59 What is the main reason for melting of ice sheets?

(A)Increase in the oxygen content (B)Global warming
HAtfeFaa=r ae ST AT A
60 Which cyclone hit the West coast of Maharashtra on 3rd June 2020?

(C)Subtropical region
ERIER R

(C)30-35 years
30-35aY

(C)Carbon monoxide

FET AATFEE S

(D)None of the above
TR

(D)20-25 years
20-25 3%

(D)None of the above
T S ATar

(C)Decrease in carbon dioxide contain (D)Noise pollution

FEAT-ST-=AFETE ST T

3 [ 2020 TSI RIS T=AT T BT e e AT #uTcar Jsh [aTEe=T asrar aaer

(A)Okhi (B)Nisarg
Sl FeT
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(C)Typhoon
TPAH

STRYEY

(D)Hurricane

g



